== ¥ =N N\
T 5= W = % fFF F£
T4, R 1EEE RSN /s - miEfh W)IMERRSE S HEXy TIHERE - &
THEX Sy A7) |5
L XSy - LFE - FhI - M bsiis AT B (milEl) S (4D HE R eSS
T HERE
= 1. 000
R T
= 1. 000
PEBABRE T
= 1. 000
LEBABRE (A
m2 15, 400. 000
TR (SEBAFRELD)
Tm2 15. 400
BRIy
m2 15, 400. 000
AT
= 1. 000
FEARBRAR T
= 1. 000
AR AT EA) AR -7 DX Gy BB 7T
m2 2, 200. 000
AR AT 1
m2 2, 200. 000
LGy
m3 40. 000




THERX Sy - TFE - FER - M5 ks HAfrL $eE (FimEn) B (4D FE R ELES
Tt L
= 1. 000
BESTALER T
= 1. 000
A BE S AL B
Fm2 17. 600
% T
= 1. 000
ARIEE T
= 1. 000
AR5 B
AH 14. 000
RIEFE R R
AH 14. 000
EETHE
= 1. 000
m R
= 1. 000
amx®E (iR
= 1. 000
M
= 1. 000
B B
= 1. 000
T HJFAR
= 1. 000




THX sy« LAE - FER - A5 ks HAL $eE (FimEn) B (4D FE R ELES
— W A A
= 1. 000
R ity
= 1. 000
W BURE o OV 5 1 2 Bl A
= 1. 000
T
= 1. 000




